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Miscellaneous Topics

1. Find all solutions of the congruence 402z = 108 (mod 930) where
0 < x <930, using the extended Euclidean Algorithm.
(Eg. if x =24 +5n, n=0,1,...,6, type 24+5n, n=0,...,6)

xr =

Solution

Answer:
2. Evaluate the following: (example syntax: for \/LE type 1/sqrt(2), if
the answer is undefined, type undefined).

sin o7 =
3 )=

Solution

Answer:



3. Evaluate 1 Ps.
11P2 —

Solution

Answer:
4. Given f(z) = z(z + 8), find f(z +4).

Solution

(x+4)(z+12) 2% + 81 + 4 x(z+12)
none of these

5. For what values of z is |14z + 9] < 19?

5 5 5
x <z 2<z<z rT< =2, x> 2
none of these.

Solution

<<
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6. Given f(z) = 23 sinx, what is its derivative, f'(z)?

H 3z%sinz 2? (3sinz + x cos )
& x3 cos 322 cosx
none of these.

7. Find [ 8sec?(5z)tan ®(52) dx using an appropriate substitution.
(Example syntax: for sin®(3z) type (sin(3%x))"2, you need not
include the constant of integration.)

/8 sec?(5z) tan ®(5z) dr =
2 Answer:

<<

Page 5 of 17

Start of Quiz




8. Let A=1{b,c,e, f,h}, B={a,d,e,h} and C = {e, f,g}. List the
elements of the set AU (B\ C).
(eg.: if S ={a,b,c} type a,b,c, if S is empty, type empty)

AU(B\C)=

Solution

Answer:

9. Select the string which belongs to the regular language
(0T +1101)71001(110* 4 0100) ™

10001001110000 11011001100
11010001110000 00001001110000
none of these.

Solution
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10. Determine if the expression ¢ — ((pV (((p — 1) = p) Aq)) V) is a
tautology (always true), a contradiction (always false) or neither.

Solution

Tautology Contradiction Neither

<<
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Solutions

Solution to Question 1

Attempt the quiz before trying to look at solutions.

<<
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Solution to Question 2

Attempt the quiz before trying to look at solutions.

<<
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Solution to Question 3

Attempt the quiz before trying to look at solutions.
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Solution to Question 4

Attempt the quiz before trying to look at solutions.
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Solution to Question 5

Attempt the quiz before trying to look at solutions.
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Solution to Question 6

Attempt the quiz before trying to look at solutions.
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Solution to Question 7

Attempt the quiz before trying to look at solutions.
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Solution to Question 8

Attempt the quiz before trying to look at solutions.
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Solution to Question 9

Attempt the quiz before trying to look at solutions.
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Solution to Question 10

Attempt the quiz before trying to look at solutions.
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